WORKSHEET: Stoichiometry—One Equation, Five Different Problems

Name: _____________________________________Date:____________Class:______


2 C4H10    +    13 O2             8 CO2    +    10 H2O

1. How many moles of water can be obtained from the reaction of 0.896 moles of oxygen?
2. What mass of butane, C4H10, will yield 8.65 moles of carbon dioxide?
3. How many moles of oxygen are needed to burn 75.0 grams of butane?
4. How many grams of water are obtained if 487.8 grams of carbon dioxide are formed?
5. (a) What mass of carbon dioxide is formed from burning 125 grams of butane in 375 grams of oxygen? (Hint: Set up two separate problems-one for each of the two reactants)
   (b) Based on your answers from part (a)-how much carbon dioxide do you think you will actually be able to produce?
